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QUESTION 1

You plan to deploy SQL Server 2012. 

You are designing two stored procedures named USP_1 and USP_2 that have the following requirements: 

Prevent data read by USP_1 from being modified by other active processes. 

Prevent USP_2 from performing dirty reads. 

You need to recommend the isolation level for each stored procedure. The solution must maximize concurrency. 

Which isolation levels should you recommend? To answer, drag the appropriate isolation level to the correct stored
procedure in the answer area. 

Select and Place: 

Correct Answer: 

Note: 

* REPEATABLE READ This isolation level includes the guarantees given by SNAPSHOT isolation level. In addition,
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REPEATABLE READ guarantees that for any row that is read by the transaction, at the time the transaction commits
the row has not been changed by any other transaction. Every read operation in the transaction is repeatable up to the
end of the transaction. 

* Committed Read is SQL Server\\'s default isolation level. It ensures that an operation will never read data another
application has changed but not yet committed. 

 

QUESTION 2

You need to recommend a solution to minimize the amount of time it takes to execute USP_1. 

With what should you recommend replacing Table1? 

A. An indexed view 

B. A function 

C. A table variable 

D. A temporary table 

Correct Answer: D 

Scenario: A stored procedure named USP_1 generates millions of rows of data for multiple reports. USP_1 combines
data from five different tables from the Sales and Customers databases in a table named Table1. 

After Table1 is created, the reporting process reads data from a table in the Products database and searches for
information in Table1 based on input from the table. After the process is complete, Table1 is deleted. 

 

QUESTION 3

What should you create in Azure to support the creation of the backups for DB1? 

A. an Azure Content Delivery Network (CDN) endpoint 

B. a Service Bus namespace 

C. a storage account 

D. a cloud service 

Correct Answer: C 

 

 

QUESTION 4

You are building a stored procedure for a Windows Azure SQL Database. The procedure will add multiple rows to a
table. 

You need to design the stored procedure to meet the following requirements: 
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If any of the new rows violates a table constraint, then no further additions must be attempted and all changes made by
the stored procedure must be discarded. 

If any errors occur, a row must be added to an audit table, and the original error must be returned to the caller of the
stored procedure. 

What should you include in the design? 

A. An explicit transaction that has XACT_ABORT disabled 

B. An implicit transaction that has error handling enabled 

C. An explicit transaction that has error handling enabled 

D. An implicit transaction that has XACT.ABORT enabled 

Correct Answer: C 

 

 

QUESTION 5

You are the senior database administrator at Contoso, Ltd. You manage a SQL Server 2014 Instance, with multiple
databases used for reporting. 

You have recently hired a junior database administrator. You want this person to be able to view the database
structures on the server, but you do not want him or her to be able to make changes or see the data in the tables. 

The new hire\\'s login credentials are as follows: 

Login name: JFree 

Password: Jx672$qse 

You want the new hire to be required to change his password on his next login. The code that is produced should
execute no matter the initial database context in which it is started. 

You need to write the code required to give the new hire only the desired access, using the smallest number of steps.
Develop the solution by selecting and arranging the required code blocks in the correct order. You may not need all of
the code blocks. 

Select and Place: 
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Correct Answer: 

Note: 

* MUST_CHANGE 

Applies to: SQL Server 2008 through SQL Server 2014. 

Applies to SQL Server logins only. If this option is included, SQL Server prompts the user for a new password the first
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time the new login is used. 

* The VIEW DEFINITION permission lets a user see the metadata of the securable on which the permission is granted.
However, VIEW DEFINITION permission does not confer access to the securable itself. For example, a user that is 

granted only VIEW DEFINITION permission on a table can see metadata related to the table in the sys.objects catalog
view. However, without additional permissions such as SELECT or CONTROL, the user cannot read data from the
table. 
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